This Question Paper consists of 22 questions and 7 printed pages.
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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2.  Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3.  For the Objective type questions, you have to choose any one of the four alternatives given in the
question, i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given to you.

4. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

5. Answers for all questions, including Matching, True or False, Fill in the blanks, etc., are to be given

in the Answer-Book only.

6.  Write your Question Paper Code No. 68/ ACV /O-A on the Answer-Book.
7.  In case of any doubt or confusion in the question paper, the English Version will prevail.
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CUSTOMER RELATIONSHIP MANAGEMENT (CRM)
DOMESTIC VOICE
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Time : 1%2 Hours | [ Maximum Marks : 30
AT : 11, U ] [ gutiek : 30
Note : (i)  All questions are compulsory.

(i) Marks are given against each question.
(i) Questions 1 to 6 are Multiple-choice Questions. Choose the correct alternative from
(A), (B), (C) and (D) and write it in the answer book.
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((1) Answers of all questions are to be given in the Answer-Book given to you. N
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(2) 15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the students will read the question paper

only and will not write any answer on the Answer-Book during this period.
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Choose the correct answer for questions 1 to 6.

99 19§ T 6 ok Hal ST AT

1.  Identify the odd one out. Y2
(A) AVG (B) HDD (C) CPU (D) ROM
TTH G T ST § Y TEA |
(A) (AVG)Td&tsit (B) (HDD)TAE € (C) (CPU)HI © g (D) (ROM)UH

2.  Biometrics is a device. 12
(A) Memory (B) Output
(©) Input (D) None of the above
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3.  Most of the people to cope up the stress of work. Y2

(A) Smoke cigars (B) Listen to music
(C) Sleeping for 10-12 hours (D) Use drugs to relax
AfeeRle A el 1 T R HA h o gl
(A) Femiee (B) I FA
(C) 10-12 =< T Erd (D) 9 od
4.  The best way to manage anger is 5 Y2

(A) Practicing relaxation exercises

(B) Slowly count to ten

(C) Focusing physical sensation of anger
(D) All of the above

1Y I Feed i 1 a9 qlien 7
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5.  While communicating with each other people should focus on . Y2
(A) Singing (B) Dancing (C) Acting (D) Pronunciation
Teh TR Y HoIg hid FHI AR T e ehfgd T =Ry |
(A) T (B) T & (C) AT ® (D) @ieH @ TR
6.  The leader of the team should be : Y2

(A) A good listener and fair person
(B) A motivator and empowers the team members
(C) A strategic thinker and exchanges information

(D) A good listener, motivator, strategic thinker, fair and professional person.
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7.  Name any two ways to modulate the voice of a person. 1

Teh AT I A D] TSgele i & b=l Qf Akl o1 98 fafaa |

8.  State any two principles of listening. 1
g & 1 fagid fafau

9. If you have to improve your personality, write any two areas that needs to be updated for 1
yourself.

Ife SATIeh! 3197 ST hl Sd sHMT & Al o HH-T o1 & § FTH 21k, T 1 39S HET BT ?

10. What are the measuring unit of computer memory ? 1
I HHRT I AT FI THE 1§ 2
11. Write any two areas where written communication is important. 1

3 -8 Q& ¢ o fafaa dare wewerguf § 2

12. People often visit the shops where they are taken care of. Write any two ways of how to take 1
care of customers.

T ST ST G WX I € Tel STl haR ohi STl & | TTEeh! bl hdl hal e AfET Heh HIE <l
T o |

13. Which type of team would be formed in case of crucial times when team members can be 1
moved within the department to fill in any requirements as their jobs are interrelated ?

Y fcd 99 1, Sd EH & 9381 Sl Teh faum § g favmt § 9Si s |ek Hifh 376 i 3|
#H Heifud €, fhd T8 &1 2w AT =ifey ?

14. Rewrite the sentence using present perfect tense. 1

Mira is already working on a presentation slide.

TG I hl ISic Whae o9 | ge fafeu)

Mira is already working on a presentation slide.

15. If you have to improve your personality, what are the major areas that you will works to 2
improve upon ?

Ifg 3MIRT TYAT AT I Tl SATIeh Tt T &1 § 1A HAT BT 2
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16. Explain the importance of teamwork with respect to increase in productivity of an 2
organisation.

fohel T &1 SUEhal deM & Ged § JHdadh & Hew o1 auH it |

17. Why Anger management is important and what are its side effects on your body. write 2
(any two)

I YeiEE F Hewequl ¥ 3R ST IRR W 3Hh 1 I15E Shee 2 € 2 fordl <1 & s H fafam

18. Identify the extension of the software and write its name. 2

T WRII THFISYH U THRA hl UgaH 3R IHHh1 7 fad |

(@) .xlsx (b) .docx () .mdb (d) .txt

19. Explain briefly about the Share and Windows Defender features of Windows 10 operating 2
system.

faerst 10 StfRfen faen o IR iR faeN Shel ®wier & oR # Higw faero Sifsm )

20. Identify and write the type of address for the following. 2

(b) 192.168.0.2

21. Two people Suresh and Keerat are friends. Keerat is an organized person and has cleared %2+1
typing test. He has created separated folders like Electricity bill, Phone bill etc. and files the
papers in those files regularly. On the other hand Suresh is a singer and artists. He also
possesses good written and oral communication skills.

(a) What type of job is suitable for Keerat ? Justify.
(b)  Who is the best person for Blog writing and why ?

U1 AR SR W % < Al 39 | 77 €1 wRka T sHafed e € o iR sue erfin o e
= faa &1 SEA fostelt & fod1, wH foaa anfe & faw st 3 wieet o1 W@ § 31X fafga w9
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(a) HRA % AU e YR 1 il SUFH § ? T8 LR HifaT |

(b) < feram & fau w1 I =afe 72
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22. 5Gnetworks are cellular networks, in which the service area is divided into small geographical 12+1
areas called cells. All 5G wireless devices in a cell communicate by radio waves with a
cellular base station via fixed antennas, over frequency channels assigned by the base station.

The base stations, termed nodes, are connected to switching centers in the telephone network
and routers for Internet access by high-bandwidth optical fiber or wireless backhaul
connections. As in other cellular networks, a mobile device moving from one cell to another
is automatically handed off seamlessly. 5G is expected to support up to a million devices per

square kilometer.

Speed of 5G will range from around 50 Mbps to 1000 Mbps (1Gbps) depending on the RF
channel and BS load. The fastest 5G speeds would be in the mm Wave bands and can reach
4 Gbit/s with carrier aggregation and MIMO. 5G uses adaptive modulation and coding
scheme to keep the bit error rate extremely low. Whenever the error rate crosses a (very low)
threshold the transmitter will switch to a lower MCS, which will be less error-prone. This

way speed is sacrificed to ensure an almost zero error rate.

Answer the following questions.

(I) What is the synonym of 5G ? Y2
(2) What is the mode of communication of 5G ? Y2
(3) How many Mbps is equivalent to 1 Gbps ? Y2
(4) Write the meaning of the word seamlessly. Y2
(5) Rewrite the sentence in future tense. 1

“5G is expected to support upto a million devices per square kilometer.”

(6) Find out two words from the paragraph which are opposite to each other. 1
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5G Jedeh Yoger Jeash ¢ f5i gide e 31 3 dnifas &6 J fawfea 2 € o< doa w1
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(1)  5G 1 g 918 o1 § 2

(2) 5G 1 FER HIETH F1 T ?

(3) foa™ Mbps RTeR 1 Gbps &1 & ?

(4) *“form fenslt smen’” o1 o7ef R B 1 BT § 2
(5) T 9 Sl MfTEER (future tense) H faf@t |

“5G is expected to support upto a million devices per square kilometer.”

(6) =TH WTH H | I vk T BIE S U TR o foradianeias & |
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